Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300006 Date: 06-06-2015
Subject Name: Engineering Chemistry (Group-2)

Time: 10:30 AM TO 12:00 PM Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumption wherever necessary.

3. Each question is of 1 mark.

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5

. English version is authentic.

No. Question Text and Option. U$l ¥al Qs

The atomic number of Argon is ......... .

. A 2 B. 8
C. 10 D. 18
WOWotoll URHIRISHIS ......... 8.
LA 2 B. 8
C. 10 D. 18
The bond formed between atoms by the mutual sharing of electrons is called a .........
5 bond.
" A. onic B.  Covalent
C.  Co-ordinate covalent D. Metallic
URHIRRAL a2 URRUR SaAsgletall adletdlell aotdl sita ......... 58 B.
. A A B ueddls
C. Yool usrlys D wileus
Which of the following metal possesses BCC arrangement?
3. A Al B. Mg
C. Fe D. Zn
o(lAattHtll 58 Uld BCCUoll URAA B?
3. A Al B. Mg
C. Fe D. Zn
On which of the following factors van der Waals’ force of attraction does not depend
on?
4. A.  Types of molecules B.  Number of electrons in molecules
C.  Contact surface of molecules D.  Average intermolecular distance
ol Actiiedll s URHN UR clloS? cllRl ASNRL o AR Avd otell?
¥, A uRllel ysikR B uguietl SAsglotoll 2ivaul
C. ugAlell dus wudl D gl clef URRALU R

compounds are solid, crystalline and soluble in water.
A. lonic B. Covalent



10.

0.

1.

C. Co-ordinate covalent D. Metallic
......... UAowoll Uol, [E5HA Wl UWRIHL stcal sl B,

A AR B deddlws

C. Yool ueddws D wilus

Which of the following is a network solid?

A. NaCl B.  Phosphorous

C.  Graphite D. Cu

(LAl 52f As MullelR ot B?

A. NaCl B. a%ae%{

The strength of cement concrete is due to ......... bond.

A. Tonic B. Covalent

C.  Co-ordinate covalent D. Hydrogen
RAee slsilesll Uxso A ......... tiual weldl .

A AR B deddlws

C. ool usdles D sleslogat
Which catalyst increases the rate of a reaction?

A. Negative B.  Positive

C. Auto D. Inhibitor

sl Galus ylbalell QoL aulR 872

A. tlol B. BBl

C. D (aw

......... ionizes almost completely in its aqueous solution.

A.  Weak electrolyte B.  Non-electrolyte
C. Insoluble substance D.  Strong electrolyte
......... of cllal alaril catedl Ayel uellswL a8,
A [Rdda (Qgaldeusa B wfagdldeusa
C. gl yetd D yun [QgdQeusa
The value of degree of ionisation is always ......... .

A >1 B. >1

C. <1 D. <1
vLe{ls20L el (FHd dRal ... sl ®.

A >1 B. >1

C. <1 D. <1

If [H;O'] ......... [OH], then the solution is acidic.

A = B. >

C. < D. =

%\ [H30'] ......... [OH],Al staRl ARBs B.

A = B. >

C. < D. =



pH+pOH=......... .

A 0 B. 7

C. 14 D. 28
pH+pOH=......... .

A. 0 B. 7

C. 14 D. 28

The vaule of ionic product of water is ......... at 25° C.

A, 1.0x 10" M B. 1.0x10%M

C. 1.0x107"M D. 1.0x10°M

wllott wAESs dQaIsiRell (1d 25° CAlUMla ....... 8.

A 1.0x 10 M B. 1.0x10%M

C. 1.0x107 M D. 1.0x10°M

pH of pure water is ......... .

A0 B. 7

C. 14 D. 28

g Wl pH......... .

A. 0 B. 7

C. 14 D. 28

What is used to get accurate value of pH of an aqueous solution?

A. pH paper B.  Litmus paper

C. pH meter D.  Universal indicator
scllal aladell pHej AssU HEAU Andal g duRjNA B?

A pHSLIA B [@eny awrR

C. pH e D 2oRQa yus

The mixture of Acetic acid and ......... is an acidic buffer solution.

A. Oxalic acid B.  Sodium borate

C.  Sodium acetate D. Potassium oxalate
WRRs ARS WA ........ of ML A As URSS wUg alan 8.
A Alscls AR B Alan olRe

C  ABau ARRe D QRan 20snae
The cell in which chemical energy is converted into electrical energy is called a/an
A.  Electrolytic B.  Electrochemical

C. Electrical D. Half-cell

B SIMHL AAUAQS Al [Qgdalsami 3uidel it da ... 58 ©.
A (QgdlQetsset siy B ([dgciua@s sy
C. (aga Do ued-sly

The reaction in which gaining of electron/s takes place is called ......... reaction.
A. Oxidation B. Redox

C. Reduction D. Addition

% YBaUHl SAs2et GARRL AA ... 53 ®.
A A3 B. &



19.

20.

R0.

21.

1.

22.

?R.

23.

3.

24.

R¥.

25.

C. Slssaet D.  2Qoelld

What is obtained at cathode in electrolysis?

A. Metal B.  Non-metal

C. Gas D. None of these
(QgctQetsetl 3els U 9 HA &?

A g B. g

C  ay D. el s uel o8l
Which of the following is correct for electrical resistance?

A. R=VA B. G=KxA/l

C. G=A1l D. R=pxl/A

Algsall WA 1 ol Astuiedll 52) U B?

A. R=IlA B. G=KxA/l

C. G=AIl D. R=pxl/A

Which of the following is an oxidising agent?

A.  KMnO4 B. Al

C. LiAlH4 D. NaBH4

ol Aol s AEA32 sl B?

A.  KMnO4 B. Al

C. LiAlHy4 D. NaBH,

Which type of corrosion takes place when metal is exposed to air?

A.  Electrochemical corrosion B.  Atmospheric corrosion
C. Pitting corrosion D.  Waterline corrosion
YR tlgol sclloll AUSH AW alHL AA RUR $2] UL ULlAU?
A dlri@ls aurel B cldiareedl ad &Rl
C. QR awrel Do yellell awdl o112 ad aRel

If corrosion takes place on the major surface of the metal at the same rate then it is
called ......... .

A.  Pitting corrosion B.  Crevice corrosion

C.  Electrochemical corrosion D.  Uniform corrosion

ol tldell el ewdtell AW U As o el &Rl adq sla Al dat ... 58
8.

A [QRaL aurel B dsul ad auzal

C flwriaal@s aurel D. et anrkel

Which of the following forms a porous layer over the respective metal?
A.  ALOs; B. ZnO

C. Fe, 05 D. Cr03

ol Actedll g UR 53 Aej3U Balg) US tlolld B?

A. A1203 B. 7Zn0O

C. Fey0s D. Cr0s

Which type of process Fe =+ Fe’™ + 2¢  is this?
A. Oxidation B. Redox



QY.

26.

R6S.

27.

V.

28.

RC.

29.

€.

30.

30.

31.

C. Reduction D. Addition
Fe = Fe* + 2¢A sl ysRell ulsau 82

A AUEA3 e B 28la
C. Jssast D. 2oellet
Which type of corrosion takes place when a metal has impurity of other metal?
A.  Pitting corrosion B.  Crevice corrosion
C.  Electrochemical corrosion D.  Uniform corrosion
ulgHl ol tldgell wyle 8l Al 53 el awa?
A [QRaL eurel B dsul ad auzal
C. dlgrua@s aurel D yuiet akel
Which of the following is opted to reduce corrosion?
A. Temperature B.  Dehumidification
C.  Porous oxide layer D.  Impure metal
aReL €2 watsal HI2 ol Aottiell 52) wUsticlelml uUA B?
A dulet B. Qo g2 s3la
C. Bag us D. ugg g
In water line corrosion, the part of metal which is less in contact with oxygen
experiences ......... .
A.  Oxidation B.  Redox
C. Reduction D. Addition
ueflell Audl oA adi auReHl Uldell % el W EAxstoll el JUSHL 8l
A ... WA B
AUsA3 2ot B. &
C. Jssast D. 2oelle

......... is a secondary fuel.

A. Charcoal B. Dung
C. Impure oil D. Wood
......... A dlas ondw 8.

A gladl B. g
C. uys dd Do cuss
IBT.U.=......... cal

A, 1.8 B. 252

C. 22 D. 0.252
IBT.U.=......... 53l

A, 1.8 B. 252

C. 22 D. 0.252
For which type of fuel the calorific value can be obtained by Bomb calorimeter?
A. Solid B. Liquid

C. Gas D.  Solid and Liquid



3.

32.

3R.

33.

33.

34.
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35.

34,

36.

36.

37.

39.

ool FedlPe Ul sall ysiRetl dandel ofl 3ctdlgls (Biid Aadl asia?

A Yot B yaugl

C. ) D. tlol ol U.C{lél
Which of the following is having maximum moisture?

A. Peat B. Lignite

C. Bituminous coal D.  Anthracite coal
ol Aottmtel AML HeH A% Sl B?

A e B.  (Qoougse

C. (gl sl D. Rdudfe sl

What is first removed during fractional distillation of petroleum?
A.  Water and sulphur compounds B.  Petrol
C. Asphalt D. Gas

W2l Alaunetl [Qewdlla PRigat e(Pallot YU 9 £ sl wA B?
Ayl wal UesYscl WAl B A

C siuR D ay

Cetane value is used to know the property of ......... fuel.
A.  Petrol B.  Deisel

C. Kerosene D. Oil

......... W Rlell ARl el R2el Auis duvdA B,
A QA B Bect

C. 3Alet D. A«
Methyl ester of fatty acid is called ......... .

A. Deisel B.  Petrol

C. Biodeisel D.  Glycerol
......... A Radd Azeell 3R ARS 53 B.

A (Suet B. daa

C. o0Buc D Paxa
Which of the following is having high octane numer?

A. LPG B. CNG

C. LNG D.  Petrol

ol ActiHiell sloll ws2et Ais QLA B?

A. LPG B. CNG

C. LNG D.  Petrol

The molecular weight of vegetable oil is ......... molecular weight of diesel.
A. Less than B. Equalto

C. More than D. None of these
cotirU(d Adsll AURQEUR [Srctall UQEUR ....... sl B.
A gl AL B et

C. sdi ay D. el s uel o8l
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3¢.
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41.

¥q.

42.

¥R.

43.

¥3.

C5Hs is the chemical formula of ......... )

A. LPG B. CNG

C. LNG D.  Petrol

CiHsA ... of AAUAWS YA B.

A. LPG B. CNG

C. LNG D.  Petrol

Power alcohol is the mixture of ......... .

A.  20-25% ethyl alcohol + petrol B.  20-25% methyl alcohol + petrol
C.  75-80% methyl alcohol + petrol  D.  75-80% ethyl alcohol + petrol

ulaR Aleseld A ... of A3 .
Ao 2025% SAUSH WESEA + B 20-25% RS wuesldle+ Wale

pRcl

C. 75.80% RS e + Do 75-80% U e EA + U2 A
prel

Which of the following has maximum percentage of carbon?

A. Peat B. Lignite

C. Bituminous coal D.  Anthracite coal

ol Aottxtel Aul HeTiH stelotatl 25t slal B?

A e B.  (Qoougse

C. (gl sl D. Rdudfe sl

The unit of viscosity is ......... .

A. mg/l B. Poise

C. gl D. Hz

Releotclloll ASH ........ 0.

A Rav@ B. g

C. Oll /@ D. Hz

The temperature at which when a flame is kept near to the vapour of fuel and it is burnt

continuously then it is called ......... of that fuel.

A.  Flash point B.  Cloud point

C.  Fire point D.  Pour point

% dluHla yalgl wesell clivd WA A cleldl olsd Andlcle] Add
AU $2 Aol WSS ......... 58 9.

A asst (g B. yy (g
C. oL [dg D e g
The mixture of oil and water is called ......... .

A.  True solution B.  Emulsion
C.  Suspension solution D. Lubricant

Act wa wWelleit A8 ... 58 ©.
Ay alael B. gy



C. dl@d glawt D. s

The number of milligrams of KOH required to make soap from 1 gm of oil is called

44 A.  Saponificationnumber B.  Emulsification number

C. Lubrication D. Distillation

1 AUH Al Ay oettaal M2 %331 KOH ol RlAauHa ........ 58 9.
¥y, A Age{lswL uis B, yalls:el wis

C. @t D [areiest

Which of the following is used as lubricant in bearings and vehicles?
45. A. Oliveoil B.  Caster oil

C. Palmoil D. Tallow oil

AL WA cAlgollHl 65 3} 9 cluRjNA B?
U, A A@a Ad B. (Radd Ad

C aumsule aa D 20lle Aat

Which type of lubricants are Grease and Vaseline?
46. A. Solid B. Liquid

C. Gas D. Semi-solid

ol wal allelal sl YsiRell @lss 872
¥s. A det B.yaugl

C ay D d-aet

Which type of lubricant is used for speedy, soft and light weight machines?
47.  A. Solid B. Liquid

C. Gas D. Semi-solid

osUl, dtRU ol AL cotallol HAllolHi sl @es cAURIU B?
¥9. A del B. yawgl

C ay D d-aet

The temperature at which the liquid can no longer flow is called ......... .
48. A. Flash point B.  Cloud point

C. Fire point D.  Pour point

% cllUHlal Yallgl @esell A UAA eS| sl Aol @eSa] ... 58 B.
¥e. A asst g B yy (dg

C. oL (dg D e (g

The molecular weight of monomer is ......... molecular weight of polymer.
49. A. Lessthan B.  Equal to

C. More than D. None of these

HlollHRell AURRUR HgULSoll AUQERUR ......... ala 8.
¥e. A sdl AL B. et

C. s2diay Do el As vl o8l

50. The monomer unit of P.V.C.1is ......... .



vo.

51.

uq.

52.

u.

53.

u3.

54.

uy.

55.

wy.

56.

A. Propylene B.  Styrene

C. Ethylene D.  Vinyl chloride
P.V.C.oll HlollHR ASH ......... 8.

A Qlllst B. 2R

C. gellcllst D Qe sARSS
Which type of polymer is -A-A-A-A-A-A-A- ?

A. Linear polymer B.  Branched polymer
C.  Cross-linked polymer D. None of these
A-A-A-A-A-A-A- UL SAL YSIRell Kgues B2

A disn wgues B auvlla sgues
C. ulRuilld wgues Do el As ug otel
......... is a co-polymer.

A. Polyethylene B.  Polypropylene

C. Nylon D. P.V.C

......... A s Us-vlgus B

A QdSedldlst B. Qdladldlet
Melamineisa ......... polymer.

w

A.  Thermoplastic Thermosetting plastic
C. Thermoplastic and thermosetting D.  None of these

plastic
A A ... wgues 0.
A dluyet B quuren@d
Codauyetial wa dlwrel@d D el As uet o8l
Nylon-66 is prepared by .......... polymerization.
A. Condensation B.  Addition
C. Condensation and Addition D. None of these
ALSAA-66A ......... wguesclel olotlaual 8.
A ddotel B. 2oella
C. dtlotot wal A10A D el A ual «tel
Which of the following is a natural fibre?
A. Nylon B.  Cellulose nitrate
C. Terylene D. Silk
ol Aol s cgues gecdl olgues B2
A olScllot B Axycdly suge
C. 2R D R
Which of the following polymer is used for preparing rain-coats?
A. Polyethylene B.  Polypropylene

C. Nylon D. P.VC.
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ol Aotimtell 53 cigues Wel-5le olotidall cuRAA B?
A Wy dlellst B Qdldlellst

Which monomers are present in orlon?
A. Vinyl cyanide B.  Vinyl chloride
C.  Vinyl alcohol D. None of these

BWRAAHL sAL HAHR slA 8?2

A [QetSd WSS B. (et sARUESS
C. (Aot 2ues8lc D. el s uwt o8l
There no effect of acid, base and other solvents on ......... .

A. Buna-S B.  Orlon

C.  Epoxy resins D. Terylene

......... WR AR, Ao wal ollost alaslell AR adl stell.
A ofotl-AY B. ARl

C. sl At D 2Rl

What is used for the vulcanization of rubber?

A.  Phosphorous B.  Sulphur

C. Carbon D. Sodium
00l ACkaESB A HIS 9 AU B?

A g8l B ues?

C.  slolol D Alan

What is GR-A?

A. Natural rubber B.  Buna-S rubber
C.  Vulcanized rubber D. Buna-N rubber
GR-A ¢ 8?

A gedl RuR B. got-ax R0
C. adelgs 0 D. gotl-Aet 043
The density of thermocole is ......... kg/m’.

A, 22 B. 27

C. 65 D. 63

aRlslctell Yotdl ......... kg/m’*®.

A 22 B. 27

C. 65 D. 63

Which of the following is not an insulating material?

A. Asbestos B. Glass

C. Wood D. Metal
o(lAsttriell 53 Qaicudl uetd aiell?

A AUARI B siu

C. auss D wqg
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S3.
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67.

SO.

68.
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69.

Sc.

Who first prepared dry cell?

A. Daniel B.  Leclanche

C. Galvani D. Volta
AU Y5l 5\ S8 coticll ll?

A 3Raa B.  Asdsu

C. dleaell D Acal
Ni-Cdcellisa ......... type of cell.

A. Primary B.  Secondary

C. Primary and Secondary D.  None of these
Ni-Cds\™ A ......... ysiell sin B,

A ylau@s B. [las

C yauls ua Gdlas D. el s uel o8l
What is the oxidation number of Mn in Mn,O3?

A1 B. 2

C. 3 D. 4

Mnoll Mn,OsHL A3 2ot Ais 9 B?

A, 1 B. 2

C. 3 D. 4

......... cells are having less efficiency.

A.  Primary B.  Secondary

C.  Primary and Secondary D. None of these
......... slatoll st A sl 8.

A yalls B Bcdlus

C. yuMs wa Gllas D aell s uel o8l
What potential is obtained from a lead storage cell?

A. 123V B. 15V

C. 14V D. 20V

As AAUES SlMall WAAUA 9 8l B?

A. 123V B. 15V

C. 14V D. 20V

The efficiency of a fuel cellis ......... .

A, 20-25% B.  30-35%

C. 70-75% D. 80-85%
ol siaell stletHdll ... RUE)

A, 20-25% B. 30-35%

C. 70-75% D. 80-85%
Which of the following cannot be used as fuel in fuel cell?

A. H; B. CO

C. CO, D. CHy
(ALY 5] HAAR HAARL-SIMHL U3l aslad o18l?
A. H, B. CO

C. CO; D. CH,



70.

90.

The efficiency of a solar cell is ......... .

AR snell st

A, 20-25%
C. 70-75%
A, 20-25%
C.  70-75%

ow

aa ®.

B.
D.

15-20%
35-40%

15-20%
35-40%

sk ok s ok sfe sk sk skeook skok skokosk



